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ABSTRACT

This study was conducted to grasp of the problems of the developed new products through
demonstrative experiment at farm field and to stand a reform measure to match actual
circumstances for early extended propagation of new products. New products including pot cover
were circulated by cactus farms in Goyang-si. Circulation of new products increased sales by
twice compared with the traditional shipping system. Therefore, new products were effective
increase in income of farmers. But sale of new products and extended propagation of circulation

must expanded by analysis of change of the amount of circulation which it follows in increase in

consumption.
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